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   : ا������ ا�ول

  

��� :#" ا��!�د�ت ا

� 2x + 1 = 3 

� 2 + x = 
3
2  

� 3(2x – 1) = 20 – 3x 
  . و أ#�ھ�� ;!: ا��9 9أو�6 ��د�� ط�4!��� 1�23 ��0ن م/���.��  )1

  
   :ا������ ا���?<

  
ABC  >C DE�F 1G�مA 1�23 :AC = 3cm ،AB = 4cm.  
[AH]  OGP��3 QG!ع ا����S�  .[BC]ھ� ا�ر
 .BCأ#�V ا��Uل  )1
2(  1G�ا�� 
 .ABCأ#�V م��#
3(   1G�ا�� WX?أHDE  1G�رة ا���[ABC  ?�2�ب ا�^ي �2ّ�ل�3�A  `إ�H.  

  
  :ا������ ا����1

   
 b��S�  . 80cm3و #/�4cm  bھ�م مDc�d ار

1(  V�#أb����F 
 . م��#
 . إذا F h?�i���ة ھ^ا ا�.�م م�O3، أ#�V ط�ل ;OG ا�g���ة )2

       

�kا���:   

  
 D�F م�ت ا4�9�رl� >G� ���C m3إ��AM:  

  6ــ  14ــ  13ــ  12ــ  15ــ  19ــ  12ــ  11ــ  8ــ  14ــ  10ــ  7ــ  17ــ  13ــ  10ــ  9ــ  5ــ  16ــ  11ــ  4
1( >�� :أ?g" و أ��D ا�/�ول ا

 
  x  4≤ x <<<<8  8≤ x <<<<12  12≤ x <<<<16  16≤ x ≤20ا�!lم
          ا���0ار

>4�dا���0ار ا�          

��tا�� 
4�dا�          
          م�اui ا�tS�ت

 . أ#�V ا����س� ا����ازن )2
3( 
G�Gي ھ^ه ا���Eدا �Ux�3 "ـــّـ�م . 


